-

SMALL BOOSTER BUDDY STAND A
Assembly Instructions

Two Vertical Tubes l

HARDWARE
PROVIDED

Two
Base
Pieces

Two Flat Brackets

Four 1/4”-20 x
1/2” bolts —.
Four 1/4” {
lock washers

Four 5/16”-18 x
1 1/4” bolts

7 Four 5/16”

lock washers

Step 1.

Remove the Koala Booster Buddy
Stand, parts & fasteners package from
the shipping box and check for freight
damage and missing pieces. Report
any damage or any missing items to
Koala Kare Products immediately.

Step 2.

Attach one vertical tube to each of the
base pieces using the 5/16” screws
with a lock washer. The tube fits into
the large holes in the base piece.

Step 3.

Assemble one of the two flat brackets
to the left leg of each of the two base
pieces using the 74" screws with a lock
washer.

Step 4.

Assemble the two base pieces
together at their right leg using the
1/4” screws with a lock washer. Do
not over tighten screws.

\

Vertical Tubes (2)

Flat Brackets (2) L

! W -20 x 4" Bolts w/&
- Lock Washers (4) 4

5/16” -18 x 1% Bolts
w/ Lock Washers (4)

_

Koala Kare Products | 6982 S Quentin St. | Centennial, CO 80112  We Care for Kids.

www.koalabear.com

Toll Free: 888.733.3456 | 303.539.8300

I Fax: 303.539.8399
P/N 121 August 2011



